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Sr Questions Answers Choice

1 Terminator are used in __________ topology.
A. Bus
B. Star
C. Ring
D. Mesh

2 Layer that is responsible for transferring frame in OSI Model is.
A. Application layer
B. Session layer
C. Presentation layer
D. Data link layer

3 De Jure means.
A. Historical events
B. By nature
C. Existing facts
D. According to law

4 One or more computers connected to a hub are.
A. Bus Network
B. Mesh Network
C. Ring Network
D. Star network

5 Many networks include a central computer the may be called.
A. Server
B. Bridge
C. Client
D. Gateway

6 Which is an example of defacto protocol.
A. SNA
B. IBM
C. SNA
D. ISO

7 The ITU was formerly known as.
A. CCITI
B. ISO
C. IBM
D. SNA

8 The layer that is responsible for flow control is called
A. Application
B. Session
C. Transport
D. Physical

9 Total no of layer is OSI Model is.
A. 6
B. 7
C. 8
D. 9

10 The layer that is used ot control how a streams of dat is sent and received over physical.
A. Application
B. Session
C. Physical
D. Transport

11 A combination of client and peer to peer network is called
A. Mixed Network
B. Merged Network
C. Dedicated network
D. Hybrid Network

12 The layer of OSI model that establish connection of user, maintains it and terminate is.
A. Presentation
B. Transport
C. Session
D. Application

13 What layer of OSI model performs data compression.
A. Network
B. Data link
C. Presentation
D. Physical

14 Network standard are ___________ types

A. 2

B. 4
C. 6
D. 8

15 The Bottom layer of OSI model is.
A. Application
B. Physical
C. Transport
D. Presentation




